2.2 Practice A
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Both graphs have the same axis of symmetry,
x = =2,

C; It has the largest leading coefficient, a = 3.

minimum: 2; domain: all real numbers,
range: y 2 2; increasing to the right of x = 0;
decreasing to the left of x = 0

minimum: —3; domain; all real numbers,
range: y = -3; increasing to the right of x = 0;
decreasing to the left of x = 0

maximum: 3; domain: all real numbers,
range: y < 3; increasing to the leftof x = 2;

decreasing to the right of x = 2

maximum: 11; domain: all real numbers,
range: y < 11; increasing to the left of x = [;
decreasing to the right of x =1
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